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Name - Starttime -_ _:_ _ End time-_ _:

Multiplication of 3 or 4 digit times with 1 digit:

657 428 827 359
X 6 Xx 5 x 1 X 4

227 466 338 645
Xx 5 x 4 X 2 X 3

4394 8593 2972 5471
X 7 X 1 X 6 X 5

Word problems :

1. A wooden crate hold 177 apples. How many apples will there be
in 5 crates ?

2. Arace has 263 runners. How many runners will take partin 6
races ?

3. Abuilding has 760 windows. How many windows will there be in
8 building ?

4. Acaris479 cm long. What is the combined length of 7 cars ?
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